اسئلة استكمالية على نظرية الترجمة
1- All communicators are like translators that they receive  signals in speech and in writing and  tend to face the same problems. Therefore,  we can say that:
a. Any communicator can be a translator.
b.  any model of communication is a model of translation. 
c. Both true
d. All false
2. When translating  a written communication, the translator go through ........steps:
a. Seven
b. Eight
c. Nine
d. All false
3. The first step in translating  a written communication:
a. Decodes signal 1 
b. Translator receives signal 1 containing message 
c. Recognises code 1 
d. Decodes signal 1 
4. The final step in translating a written communication:
a. Translator selects code 2 
b. Encodes message by means of code 2 
c. Select channel 
d. Transmits signal 2 containing message.
5. A professional translator has access to.............. distinct kinds of knowledge: 
a. Five
b. Two
c. Seven
d. All false
6. Some of the distinct kinds of knowledge that a professional translator has access to, is:
a. Target Language knowledge (TL) 
b. Subject-area knowledge 
c. And contrastive knowledge
d. All true.
7.  One of the primary characteristics of a good translator is:" A Translator thinks and talks about translation from inside the process". This means:
a. Knowing how it’s done, possessing a practical real-world sense of the problems involved. 
b. He acts in reliable ways delivering reliable translation by deadlines. 
c. A translator should be able to know when to speed and when to not to seeped.
d. A Translator must be good at storing experiences in memory and retrieving those experiences whenever needed to solve complex translation problems.
8.  One of the primary characteristics of a good translator is:" Professional Pride". This means:
a. A Translator must be good at storing experiences in memory and retrieving those experiences whenever needed to solve complex translation problems. 

b. He should be ethical.  In other words, it is unethical for the translator to distort the meaning of the source text.
c. a Translator should have a professional integrity and professional self-esteem in what he/she  does. He should feel that the job he is doing is important  and people appreciate his work.
d. He acts in reliable ways delivering reliable translation by deadlines. 
9. One of the primary characteristics of a good translator is "speed". Speed depends on the following factors:
a.  Typing speed  and the level of text difficulty 
b.  Personal preferences or style  
c. Job stress, general mental state.
d. All true
10. An example of the translation at the ......... level is the word:" inconceivable ".
a. Above the word level.
b. Word level
c. Morpheme
d. All false
11. An Arabic example of the translation at the ......... level is the word:" ألم " in "ألم. ذلك الكتاب لا ريب فيه ".
a. Morpheme.
b. Word level
c. Above the word level 
d. All false
12. Some of the morphemes level problems is that some morphemes have grammatical functions such as:
a. marking  plurality 
b. gender 
c. tense 
d. all true
13. Some of the morphemes level problems is that some morphemes change the function of the word such as:
a. marking  plurality 
b. gender 
c. Adding prefixes or suffixes.
d. all true
14. ......................at word level means that the target language has no direct equivalent for a word which occurs in the source text.
a. Morpheme 
b. Non equivalence.
c. an orthographic space on either side
d. all false
15. The type and level of difficulty in translation at this level depends on the nature of non-equivalence. This level is:
a. Morpheme
b. Word level
c. Above word level
d. All applicable.
16. An example of word level is (Culture specific concepts) which can be:
a. Abstract (privacy)
b. Equivalence.
c. Concret
d. A and c
17. "Speaker ( of the House of Common) has no equivalent in Arabic. It is often translated as the ‘chairman’ which does not  reflect the role of the Speaker of the House  of Commons as an independent person who maintains authority and order in Parliament.". The previous text is giving us an example of:
a. Abstract
b. Concrete
c. Morpheme
d. All false 
18. The expression "airing cupboard" is an example of:
a.  Abstract
b. Concrete
c. Morpheme
d. All false 
19. Differences in form is an example of the translation at the word level where there is often no equivalent in the target language for a particular form in the source text. An illustration of this type of problems is:
a. Some plurals.
b.  Certain  suffixes and prefixes.
c. Some verb tenses.
d. All false.
20. Translation Problems above Word Level  include Lexical patterning which can be divided into: 
a. Collocation 
b. concrete
c. Idioms and fixed expressions 
d. A and C
21. ............... is a sequence of words or terms that co-occur more often than would be expected by chance.  It is the tendency of certain words (i.e.: " the verb: deliver")to co-occur regularly in a given language.
a. An idiom
b. A collocation
c. Both true
d. All false
22. ...............................: are frozen patterns of language which allow little or no variation in form  and in case of idioms, often carry meanings which cannot be deduced from their  individual components
a. Collocation 
b. concrete
c. Idioms and fixed expressions 
d. A and C
23. The sentence: ‘bury the hatchet’ means ‘to become friendly again after a disagreement or a quarrel’ and the sentence: ‘pass the buck’ (refuse to accept responsibility for something). These are examples of:
a. Fixed expression.
b. Idioms.
c. Collocation.
d. All false 
24. The sentence:  ‘as a matter of fact, all the best and proverbs such as ‘practise what you preach and waste not want not” These are examples of:
a. Fixed expression.
b. Idioms.
c. Collocation.
d. All false 
25. Grammar is organised along two main dimensions morphology and syntax. Morphology covers: 
a. The grammatical structure of groups, clauses and sentences: the linear sequences of such classes of words, such as nouns, verbs, adverbs and adjectives, and functional elements such as subject, predicator and object which are allowed in a given language.
b. The structure of words, the way in which the form of a word changes to indicate specific contrast in grammatical system, for instance ,most nouns in English  have two forms a singular form and a plural form man/men, child /children/ car/cars. 
c. Both true
d. All false
26. The major categories of difficulties translators encounter  because of differences in the grammatical structures of source and target languages include:
a. Number
b. Gender
c. Person, tense and aspect.
d. All true
27. The problem of (gender) in translation is that:
a. English has more pronouns than Arabic.
b. English does not have gender for second person pronouns like Arabic أنتَ وأنتِ  
c. English does not have gender for  الناقة والبعير 
d. B and C
28. The translator sometimes uses passive voice to:
a. Give a text more suspense.
b. To avoid mentioning the subject.
c. To avoid using gender because he does not want to restrict something.
d. All true.
29. (VOICE) is one of the major categories of difficulties translators encounter because of differences in the grammatical structures of source and target languages. It is defined as:
a. a grammatical category which defines the relationship between a verb and its subject. 
b. The important factor of communication.
c. The important factor of interpreting.
d. All false
30. The difficulty that translators encounter and is involved with the issue of Passive and Active, is:
a. Gender problem
b. Tense problem
c. Voice problem
d. All true
31. One of the grammatical problem in translation is the problem of word order. In English and Arabic:
a. Word order in English is relatively fixed. 
b. Arabic does not have  fixed word order.
c. Both true.
d. All false.
32. ................... is extremely important in translation because it plays a major role in maintaining a coherent point of view and in orientating message at text level. 
a. Voice
b. Word order
c. Gender
d. All false
33. ………………………..defines culture as “ complex whole which includes knowledge, belief, art, morals, law, customs and any other capabilities and habits acquired by man as a member of a society.” 
a. Newmark
b. Allundi
c. Taylor
d. All false
34. ........................defines Culture as  ‘the way of life and its manifestations that are peculiar to a community that uses a particular language as its means of expression’.
a. Newmark
b. Allundi
c. Taylor
d. All false
35. ....................makes a distinction between  culture and civilisation: “the former involves beliefs, customs, traditions, laws, value-systems, etc. Whereas the latter generally involves progress and development  at the level of scientific inventions, technology, industries, education, etc.” 
a. Newmark
b. Allundi
c. Taylor
d. All false
36. One of cultural problems in Arabic/English translation is the (Political and Administrative). This involves terms or expressions that have:
a. Social implications
b. Religious implications
c. Political implications
d. All false
37. An example of political/administrative problems in translating from Arabic to English:
a.     مجلس الشورى
b.    الملكية
c.   إدارة شئون العاملين
d. All false
38. In the category of religious problems arise in English/Arabic translation,  it is not only  a matter of translatability but rather: 
a. Of rendering a concept.
b. of avoiding such complicated issues.
c. Of being literal.
d. All false
39. literary problems in Arabic/English translation can be avoided if:
a. The translator is skilful.
b. The translator is honest.
c. Both A and B
d. That wouldn't make any difference.
40. In literary problems, no matter how skilful the translator may be, he still falls victim to the historical, social or cultural associations and connotations attached to literary texts. This could be illustrated through mistakes arising from the gaps in the translator’s cultural knowledge of:
a. Religions
b. Politics.
c. Animals.
d. All false
41. In order to avoid  ecological problems, a translator is recommended to operate in a way that maintains the matter and logic of a theme while altering the expression convention. This method is called:
a. Ecological shift.
b. Ecological approach
c. Substitution approach
d. All false
42. When dealing with culture in translation you need to be aware of Contextual Factors such as: 
a. Purpose of text
b.  Motivation and cultural
c.  technical and linguistic level of readership
d. All true
43. When dealing with culture in translation, you need to be aware of Translation procedures such as : Transference
a. Cultural equivalent
b.  Naturalization
c.  Literal translation
d. All true
Answers:
1. B
2. C
3. B
4. D
5. A
6. D
7. A
8. C
9. D
10. C
11. A
12. D
13. C
14. B
15. B
16. D
17. A
18. B
19. B
20. D
21. B
22. C
23. B
24. A
25. B
26. D
27. D
28. A
29. A
30. C
31. C
32. B
33. C
34. A
35. B
36. B
37. A
38. A
39. D
40. C
41. C
42. D
43. D

44. 

